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#iEe] RENARGOMI I

(2% W=4 WE)

%O? gf) (%) sin 0 cos wsinf | a(m) (tz ':z) wcosf |wcosf-tan @
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F=-" o w_l 25>1.23 O,K.
M D2 OR 31
oo 379 m 6=73°
EsES AHol; 48 m
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1 1.04 1.04
2 3.45 3. 45
3 11.22 11.22
4 0. 48 12. 67 1.48 14,83
5 10. 47 0.33 3.37 4. 55 18.72
é 24. 48 8.82 7.68 40,98
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1 9. 63 9.63
2 4.99 13,28 1.22 19.49
3 19.72 3. 52 6.96 30.20
4 16.32 3.76 8.76 28.84




5 19. 58, 12. 93 8. 06, 40. 57
é 21.21 8.371 . 17. 47 47.05
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2 19. 49, 346°06’ 0. 589 11. 47 24,2 471. 65
3 30. 20 33°54’ 0. 557 16. 82 21 634. 20
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5 40. 57 17°54’ 0.307 12. 45 12.5 507.12
é 47.05 10°42/ 0.185 8.70 7.5 352.87
7 47, 20 3°307 0. 061 2. 87 2.5 118
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9 52.89 11°12/ 0.194 —10.26 -8 —423.12
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(m) |(m) {(Ton)|(m) |(m) {(Ton) (o) |(m) [(Ton)|(m) |(m) {(Ton)|(m) {(m) ((Ton) |(m) |(m) {(Ton)| (Ton)
1 12.70 0.17] 12.87
2 1.02 16. 38 2.65 0.12 20. 11
3 9.78 2. 52 13. 09 3.38 4.20 32.97
4 2V. 04 7.70 0.19 12.0 40.93
5 21.25 7.70 16. 65 45. 60
6 12.75 4.62 10. 84 28. 21
7 3.78 1.54 3.69 9.01
8 6.12 4. 62 10. 84 21.58
9 4.25 7.70 16. 65 28. 60
10 4.25 7.70 12. 60 24,55
1 4.93 8.93 6.26 20. 11
12 0. 42, 1. 68, 2.10
[ i o 0 10 L 25
| o P K 30.9 m 0—87.50
ES) 2ol ; m
#ES REHAEER I
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(m) |@m) [(Ton) |(m) |(m) |(Ton) |(m) |(m) |(Ton){(m) |(m) {(Ton) |(m) |(m) |(Ton) |(mD |(m) {(Ton)| (Ton)
1 0.26 5.88 6. 14
2 15. 60 0.72 16.22
3 28. 28 8. 40 36. 68
4 8. 39 6. 32 14. 56 1.38 30. 65
5 8.36 3.52 11.88



é 2.72 2.35 8. 07
7 10. 20 14. 70 24. 90
8 0. 56 2.85 3. 41
9 0.83 0.83
| & J ., 10R20
| o g K 23.8 m 0=92. 58°
ES Ao m
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%Oﬁ g:) 0,525 sin 8 cos § wsin @ a(m) (:v, n?) w cos 0 :‘; rfoi(‘)’
1 6. 14 18. 5 113. 59
2 16. 32 16. 05 261.94
3 36. 68 1.1 407. 15
4 30. 65 5.1 156. 32
5 11. 88 1.25 14. 85
6 —5.07 0.8 —4. 06
7 —24.9 6.6 —164. 34
8 —3. 41 12. 6 —42. 97
9 —0.83 37.25° 0.796 1415 —11.74 0. 66 0. 55
My=730.74
M,—=23.82(—0. 19X 12, 8X92. 5X0.01744-4-0. 19X 34. 45)+-23. 8X0.55=1, 498.86
MIRAES =88 4%
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. F: 2 . =1, i
Mo-+Mu 730.744-305.45 1 4472127
B & .0 10 R 20
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#me REHARGME I
AR 93
mNOﬁ z:) C f;{) sin @ cos @ wsin 0 a(m) (;”’ [:) wcos @ :; ;0200
.I 14.03 24.4 342.33
2 21. 54 22.1 476.03
3 30.23 19. 05 575.88
4 39. 10 13. 95 545. 45
5 36. 64 7.4 271. 14
6 19. 28| 2. 25 433. 80
7 —18.72 3.5 —65. 52
8 —28.08 1.5 —322.92
9 —13.49 18.3 —246.5
10 —0.53 44.6 0.712 22.3 —11.82 0.38 0.32

M,=1, 861.07—258.32=1, 602.75
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